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l
255 [

7). Eﬂ

Ans8 =[Cot(0) + Csc(0) =*\/§], ,[_(}
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Anséz{Csc(B) —Cos(0)=—

Ans7:{Sec(9) + Tan(0) =—
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i T o 37m o |
.1:(5:90] .6 ( :2220j

3
57 551t
.2:(?—150) :( =(- 1650)j
Tr
Ansl = .3:(—7_(-315?] =( —(-1845)"}
.4:( ST_( 300)j 9=(5=286.479°)
.5=(— 172 =(-1530)°] 10=(-1.5=(-85.944)")
- 41 nt
1 =(180°=n) .6=(2460°: 3 )
( . 3nj ( . 73nj
2=|135=— 7=(-2190)° = -
4 6
o T , 63m
Ans2 = .3:(60 :; .8:(2835 :Tj

( . 11nj ((270]" ]
4=((330)°=-— 9=|(=] =100

. (( 900)"
S5=((-1080)°=-67) .10=||-——] =-5.000

T

N—

Ans3 =[.1 =[Quadrant = 04],.2 =(Tan(0) =-2 «/E)], ,[

Ans4:[-1 = [Quadrant = 4], 'ZZ[CSC(O) :_ﬁﬂ’ [

2

|

Ans6={Tan(6)+Cos(6):_31;5} [C}
Ans7:[Cot(6)+Sin(e):— 10;;/55}’ {‘/?}
Ans8=[Csc(6)—Tan(9)=—%l [L()}
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i T o 13m o ]
.12(—:90] .6:( :585)
2 4
11= o 22 1 o
.2:(— =(-330) J .7:(—: 1320 j
6 3
47 o 537 o
.3:( =240 j .82(—72(-1590) ]

.4:(——:(-225)"} 9=(6=343.775°)

Ansl =

o 27 o 35m
2=[(-120) =- 7=|1575"= 4

3

o T o 71w

dns2=| 3= (A== .8={(2130)"=-—/
Tm

180
.4=((-210)°=—?] .9=&Tj =1.oooj

810
5=((-2520)° = —14 ) .10:((—Tj :4.500]
)
o
2]
o

Ans3 :{I =[ Quadrant = Q2],.2 = (COS(@) =?j}, ,{

Ans4 =[.1 =[Quadrant = 04],.2 =[Csc(0) =~\/5]], ,

£ &

Ans5:[Cos(9) —Sin(0) = -

85 !

Ans6 =|:SGC(6) —Csc(0) = %}’ ) {L()}
Ans7={C05(9)—Cse(9)=%l ,{L()}
Ans8={Sin(9)—Cot(9)=—31&{?} ,[C}
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